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To find angle between vectors

1) Find magnitudes of vectors

a5 2| a|=Va3)={13
3

b= 3| |b|=V(25)=5
4

2) Find dot product of vectors
a- b=(2)("3)+(3)(4)=6

ab
lal- |2

SO0 cos 0 has ratios

3) Apply cos (6')=

6- 13

65

=6 /(\V13~25)=6/(V325)=

4) Use inverse cos to find 0
6=cos™ (6/(N 325 ))=70.56 °
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To find angle between vectors

1) Find magnitudes of vectors

2] Ja)=v(13)={13
3

6| || =\(52)=2- [13
4

2) Find dot product of vectors
a- ¢=(2)(6)+(3)(4)=0

ab
|al-[2]
so cos 0 has ratios
=0/(N1352)=0/(N 676 )=0

3) Apply cos (9)=

4) Use inverse cos to find 0
6=cos™ (0/(N 676 ))=90. °
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Problem 3
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To find angle between vectors

1) Find magnitudes of vectors

b=l 3| |bl=V(25)=5
| 4 ]
c={ 6| || =V(52)=2- (13
4

2) Find dot product of vectors
a- b=(-3)(-6)+(4)(4)=34

ab
lal- |2

SO0 cos 0 has ratios

3) Apply cos (6')=

17- 13

=34 /(N 2552 )=34 /(N 1300 y=——

65
4) Use inverse cos to find 0
6=cos™ (34 /(N 1300 ))=19.44 °
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